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Candidates must write the Code on
the title page of the answer-book.

Roll No.

®  HUAT I L T foh T8 T -0 H qfgd T8 12 % |

® TH-T T gifed 1 <Y 3R o MY hre T B BT STR-YrhT o GE-TS W ford |

® U ST HL o fh 3H TA-TA T 36 TAF |

®  FHYAT T HT I TG Y& A A U5, T 1 51k 7avd ford |

® U YYH-UH I UeH o fo1C 15 fire 1 aw gz T 8 | ye-v w1 forawn g@ig ® 10.15 991
ToranT SIT@T | 10.15 S9TE 10.30 St Tk BT haol I9-9 1 Uil 3R 39 379 & SR o
IA-YfETehT T hIE TR T4l fore |

e Please check that this question paper contains 12 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

¢ Please check that this question paper contains 36 questions.
¢ Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Wﬁiﬂ:
(i) 39 Y99 99 & 51 @Us], GV 37 3K GV &, § FieT 77 & | 3791 Gl GUs1 & J941 &
I 1@ 8 |
(ii) G goT SRTHE |
(iii) T 97 97 H fa5ef] 97 H BIg 7o 1T 787 & |
(iv) 3719 GUE 37 IR GUE § & G41 9] & I §IH-J4% GUE & HTYR T [o7G+ & /|
(v) U8 3P Yo7 G ] &3 97 Uh-Uh 37 & 5 | 575 I U 31eg 37T Vb a4 G |
(vi) IS 3 % Yo GEIT4 T 6 F J97 -3 3l & & | 599 I T30 Fegi 4 57 8 /
(vii) @IS 3 % JIT GEII7 G 18 3 Jo7 T~ 3l & & | 579 I TTHT50 Jiegi 5 37 8 /
(viii) T8 37 3 J97 GEIT19 824 & J97 Gia-9ia 3] & & | 578 TR TTHT70 FIeg) 7 67 8 /

(ix) TV F 557 GCIT25 & 33 & T57 JEVIcHSE BT T HTERT Gglascd! 97 & | T
97 U 37 BT 8 | 16T TT TR faehed] 4 & 3719 Hac7 Teb Tad Iqgeh 19 g7 & /|

(x) TS T P Y97 G&IT34 T 36 3 97 FANTHE HITeT T JTENRT @-al 371 & J97 8 /
37 IR ARG H 37 & /

General Instructions :
(i)  The question paper comprises two Sections, A and B. You are to attempt both the

sections.

(ii)  All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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Qg - A

Section — A

1.l o aefieher ST 3nyfes 31Tad frem fafa | 1

State Modern Periodic Law of classification of elements.

2. & FefeewfE 3R sawIRmiE SURTEl o1 & = %1 fedi § w1 Siem SE
=ifeT ? 1

Why should biodegradable and non-biodegradable wastes be discarded in two
different dustbins ?

3. o <h &rHar <hl gimT fefau | 1

Define power of a lens.

4. ST IgHEE R g ? ATl 3G i dTet fohegi Ql ShIehl 1 Ieoi@ HITT | 2

What is speciation ? State any two factors which could lead to speciation.

5. eifireh S oht fehegl = ferferdi o6 g=h SIS | 2

List any four modes of asexual reproduction.

6.  3TUHH (STIUTSIh ) FATE 7 TATSUT H gHeh! Rl T Ieoid HITT | 2

What are decomposers ? State the role of decomposers in the environment.

7. YohTYI 1 YehIUH RIT 8 7 E=D STTEhIST hl 01 T &1 Ydid gidT & ? AT shifT | 3

What is scattering of light ? Why do the colour of clear sky appear blue ? Explain.

8. 38 ANk % 3 QW &1 A fIfaw i 379 G % TN & T 3T <= ok =wH H
IR HAAT 2 | FlG 37 81 ol &THAT +0.5 D &, 1 37 18 <hl Bishd gl F1d shiTT | 3

Name the type of defect of vision a person is suffering from, if he uses convex lenses
in his spectacles for the correction of his vision. If the power of the lenses is +0.5 D,
find the focal length of the lenses.
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9. I ©¥ ¥ 3Uadd g ferdft fara o1 areafass gfafara 591 eoid & fau fertor s
Hifeu | 38 3 W T rdfa fog aRrdt o sger far-gft (v), hafsra-ght (v) den
HIhe Gl (f) 3ATehd SHITT AT u, v 3N £ H Fag Wt ferfaa | 3

Draw a ray diagram to show the formation of real image of an object when refraction
of light takes place through a convex lens. Mark as per the new Cartesian sign
convention the object-distance (u), image distance (v) and the focal length (f) and
also write the relation between u, v and f.

10.  TehTST o 3T9edH 1 Eet 1 (43w faftgu | <8 nifvrde &9 # = hifste | el aream
et staedTe 3 fata 8 venrer i =mer & o= gy fafau | 3

State Snell’s law of refraction of light. Express it mathematically. Write the
relationship between absolute refractive index of a medium and speed of light in
vacuum.

11. FgEst A =18 ? I 3T Aftent ¥ forg TR 73 B1d & 7 Tegs At &
Ter=g g1 UM <Al = ST | 3
What are covalent compounds ? How are they different from ionic compounds ? List
any two properties of covalent compounds.

12. THTEH 3A |15 H,SO, i Iufedfd 1 Iiigrg T 8 SATHishan e s AT saman
gl
() 39 ANk o T BT T 3 IHH] 7Y T Sooig iU |
(i) 38 Jrfufsran =1 T Tt ffaT 3T 3wH |ig H,SO, i fHet 1 Seord
e |
(i) 39 3rffsRan o IcuTe 1 1S Tk Iw fefiau | 3
Ethanoic acid reacts with absolute ethanol in the presence of Conc. H,SO, to form a
compound
(1)  Write the smell and class of compounds to which this compound belong.
(i)  Write the chemical equation for the reaction and state the role of Conc. H,SO,

in the reaction.
(i11)) Write one use of the product of this reaction.

13.  © dwE, P (TRAE] ST 17) 3R Q (W] TEAT 19), % Soiareii~eh for=mg foraemt 3myfies
JTEd ROt | $ehT g T 3R 3mad wen e Hif | 3

Write the electronic configurations of two elements P (atomic number 17) and
Q (atomic number 19) and determine their group numbers and period numbers in the
Modern Periodic Table.
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14. 3 T X a1 soidgiieh o= (2, 8, 2) 2, 31 geshi (NO,)™ 3R (SO,)> % €1
FAT - 37T I AT 2 |
(i) T X 9Tg & ST 74Tg ? 39 1SS hl Fhid e |
(i) 7 FTehl o TAN F & X’ o AMTehi o FF ARG | I TGS AMTEh & AU
AT AT 2 3
An element ‘X’ with electronic configuration (2, 8, 2) combines separately with two
radicals, (NO,)™ and (SO,)*".

(i) Is ‘X’ a metal or a non-metal ? Write the nature of its oxide.
(1))  Write the formula of the compounds of ‘X’ formed by the combination of these
radicals. Are these compounds covalent or electrovalent ?

15.  3TR@ H g 77T g5 3 o9 W A, B 3TR C 3 T 3R Y%k 1 Th-Teh %1 feIfaw | 3

Name the three parts A, B and C of the flower shown in the figure and state one
function of each.

16. Trerh TR - Hefl H 98 AT 6l foh S 98 WehH ® forees g Sfia o1t Seen o
g I & | TN ST e o faw § S1feres SHehRt =mean o | 37 ek weey A
HeT H 3 WM forwr 7 oft smen 6t fweht 3faa araenf=i & 9 svd ST 9 <1 g
1§ | 3
() wedl s g gt & fore e s o /i 2 2
(i) ATTeh TRl g B o1t < Ui o 9 forflam |
(iii) T 3T feres mETed g wefid Uh-Uh g forfia |
The teacher explained in the class that reproduction is the process by which
organisms increase their population. Manoj wanted to know more about the
reproductive-health. Therefore, the teacher also explained in the class about the
diseases that can be transmitted, if proper care is not taken.

(1)  Why is the increasing human population a cause of concern for all of us ?

(i) Name two diseases that can be sexually transmitted.
(ii1)) State one value each displayed by Manoj and his teacher.
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17.

18.

19.

20.
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ST 3T RS ? ST 1S Ueh ISTEWT ST | o1 fordief) o 9@ 3R See o i b
THSATA 37 HET ST Hehdl & 7 379 ST o U&7 H SRl ST |

What are homologous organs ? Give one example. Can the wings of a butterfly and the
wings of a bat be regarded as homologous ? Give reason in support of your answer.

If¢ T I[g IS o el (THTE) HeT o Tiei <1 I[g SIS o s (ITHHTE) HeX & diei

& Ty TR HUT, A EH F, NEl % T NG I6 8 | 379 A g9 F, At 6 el 6

= FHeRtoT AT, 1 B F, Hiet o T h N MH A 7 |

(i) F, e s de e femmrs ed & 2

(i) F, e § Al 3R S el o1 s fafa |

(iti) 3 Al 1 TR fIRay St F, didt | 781 uie 1, uieg F, fiE 6 gfeer gu | e
EIH 1 T Ty |

If we cross-bred tall (dominant) pea plant with pure-bred dwarf (recessive) pea plant,
we will get plants of F, generation. If we now self-cross the pea plant of F,

generation, we obtain pea plants of F, generation.
(1)  What do the plants of F, generation look like ?
(i) ~ State the ratio of tall plants to dwarf plants in F, generation.

(ii)) State the type of plants not found in F, generation but appeared in F,

generation. Write the reason for the same.

e gdull gRI SRhI9T o U H @] 8 dTct fmi 1 Jeor@ shifore | fepeft
A U1 g I8eh | W fepeft farar <h1 wfciferesr s g <6 forw fepeor am wifa |
T4 ATl Sfafsres o R <1 Stfirerequni <6t g SIST | 3t gUvil < U SUANT Y AT
T = i |

State the laws that are followed when light is reflected by spherical mirrors. Draw a
ray diagram to show the formation of image of an object placed infront of a convex

mirror. List two characteristics of the image formed. Briefly explain one use of
CONnvex mirrors.

Y SehT¥T S TagH fhdl Shad & ¢ Thdl hid o fH § oA W fafer= gort 6t fomor
Tl sIvn W fo=fora o1 81 STt & 7 Iod JehT™ oh =T 3Ta@ai ol G ohid i
farfer <1 =amen <hifs |

What is spectrum of white light ? Why do different coloured rays deviate at different
angles on passing through a glass prism ? Explain the method of recombining the
different components of white light.
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21. (a)
(b)

©

(a)

(b)

©

22. (a)

(b)
(a)

(b)

A 3T ST BTESIhTaH] < s1d a¥eT % fTu Sig Tamfes qdege faafaw |

U % 9 H €& B W S aTet 3cdrel < A1 iR | g areft srfirfsrm @6
T gl faflay 3fn fomfaa 29 areft faftmr geer 6 Soist @ ot
g3y |

T & ek Y Iufefa | A i FAkiA & T arfufsren fofeaw | 58 wfheemm

AT = AT ST B 2 5

Write a chemical test to distinguish between saturated and unsaturated
hydrocarbons.

Name the products formed when ethane burns in air. Write chemical equation
for the reaction showing various types of energies liberated.

Write the reaction between methane and chlorine in the presence of sunlight.
Why is this reaction considered a substitution reaction ?

T HIET ST T o = U T Teeh W7 o1 1 forflaw :
(i) 3MEEE

(i) AT I

(i) Tt

BT shl FTEET 3T hET o1 9UMH hIfST | 5

Write the functions of the following parts in human female reproductive system :
(1) Ovary

(i1) Fallopian tube

(ii1)) Uterus

Describe the structure and functions of placenta.

23. 39 fererg <kt gftamn feifgu | o8 fore g BT 2 7 =amen shifse foh Sitemem forg Tem

forepmar & vt o THIOT TEqd FA B 7
Define evolution. How does it occur ? Explain how fossils provide evidences in
support of evolution.
24. (a) TSI HETEHT o HEAV o TeH H HH ITAW, GH: <RI 3T GH: ITANT UG) hl
TEAT HITT |
(b) T T HIRIUT ] T & 7 fehral T hIUN o Seoid hiaTT | 5
(a) In the context of conservation of natural resources, explain the terms reduce,
recycle and reuse.
(b) Why is conservation of water necessary ? State any four reasons.
3111 7 [P.T.O.
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Tug -9

Section - B
25. hIs BT THHT L&A J& I UG T Hihied Hih el feT T 31det gaor 31 ®ishd gl
Frerifea s =1 T R @ 7 | 39 = few T gfafsei A @ 9 w fra yer 6 fdafars

ferer =nfew 7 1
(A) (B) ©) (D)

(@ @A) (b) (B)

© (© @ @O

A student is performing the experiment of determining the focal length of a given
concave mirror by focussing a distant tree on a screen. Which one of the following
kinds of images he is likely to obtain on the screen ?

(A) (B) ©) (D)

(@ (A (b) (B)
© (© (d (D)

26. TorHl BT 7 I <F 1 TR § TRl GTEY WA i UG W hiehidd L fer § | AfG 36
forrat o &9 H et T o Wad I 91 8, al = feu 11 39 fomhed b1 g fam ue w e
B aTel Hfcfers o g etequr fgu M &
(a) 3T, Hie, Bl SR T H
(b) aTElh, I, BIST 3T ST TT T
(c) aTEleeh, 3TeT, BT 3R et T oh
(d) 3TV, 3eTeT, BreT 3TN et T 1

A student has focussed on the screen a distant building using a convex lens. If he has
selected a blue coloured building as object, select from the following options the one
which gives the correct characteristics of the image formed on the screen.

(a) Virtual, erect, diminished and green shade

(b) Real, inverted, diminished and in violet shade

(c) Real, inverted, diminished and in blue shade

(d) Virtual, inverted, diminished and in blue shade
31/1 8
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27. =R BEN A, B, C 3R D ! = guiieht Tt wrifires syareenati &1 e hifag e
I o WIS | TSI STet] JhTRT fehTur 1 9 STRRET i o foTu tmafa fertor guieft meft
3 | 394 9 fope gaaw aiom STe 8T ?

(A) ®) © (D)
(@ (A () (B)
© (© (d (D) 1

Study the following four experimental setups by four students A, B, C and D showing
the incident ray to trace the path of a ray of light through a glass slab. Which of these
will get the best result ?

(A) (B) © (D)
(@ (A (b) (B)
© (© (d (D)

28. el few e 3@ o1 3t HifvT 3 38 faereq @i g fed adt sifera o feg e d
A

(a) Zi, LA, £ZD (b)) 4, Lr, ZD
(c) A, Le, LA (d) ZLr, ZLe, £D 1
Study the following diagram and select the option having correctly marked angles

A

S
(a) A, ZA, ZD (b)y A, Lr, ZD
(c) A, Le, LA (d) ZLr, ZLe, £D
31/1 9 [P.T.O.
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29. 3T9eh UTH sfieht H 19 1 et & | FTGIhT0T SIITHAT ST 378 i & T0TT 319 39

T fi= fean s a1 gEtes gered fiyemdn 2
(a) 20% Ca(OH), (b) 20% NaOH
(c) 30% Mg(OH), (d) 10% Ca(OH), 1

You have neem oil in a beaker. In order to study saponification reaction, which of the
following chemical substances would you add to this oil ?

(a) 20% Ca(OH), (b) 20% NaOH
(¢) 30% Mg(OH), (d 10% Ca(OH),

30. UHITe 37 o TUTEHT | Feled FEl HeH T |
(a) 3Eeh! frweh St e Bt & 3TR =18 et fofema sl Ffien s gan 2 |
(b) I8 T H 3feid & 3R et ferema Rl A I A R |
(c) I8 H faor g 3R oret fotemd o1 frem w2 |
(d) 3Th! fawes SIEft 714 Bt B 3T I8 et foferd bl e S ST 2 | 1

Select the correct statement about the properties of acetic acid.
(a) It smells like vinegar and turns red litmus to blue.

(b) Itis insoluble in water and turns blue litmus to red.

(c) Itis soluble in water and turns red litmus to blue.

(d) It smells like vinegar and turns blue litmus to red.

31. 39k UTE UM Higdl o =R fafi= saun o foerq o vt =) qw@H o™t A, B, C 3D
@ | AT NaCl, B¥ CaCl,, CH MgCl, 3fR D H KCI % Seiid foeted W & | I 379 37
AR} T o fIeral | | o foera o1 a0 AT et 3 wellaitd fgam, ar
T O fop wEaforal O why (STeereiiet uered) e ghm 2

() AdB (b) BaC

(c) Cd9D (d Ad9dD 1
You have four test tubes A, B, C and D filled with aqueous solution of same
concentration but of different salts. In A solution of NaCl, B solution of CaCl,,
C solution of MgCl, and D solution of KC/ is filled. If you add equal amounts of a

soap solution to each test tube and shake the contents well, in which of the test tubes
will scum (insoluble substance) be obtained ?

(a) AandB (b) BandC

(¢ CandD (d AandD
31/1 10
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32. T h SISl o YUT T J&10T hieh fehell BT 3 Iqeh 1<t Teu e wrTi 6t g=ht &S -
SISIUE gR, S 93, WL, SSTavT, JATg, 37 :ha
39 G 1 T0E0 Hd W Rieres weied A g fewufl 1 o6 570 @ Shaet dH Wi & Yo %
& | 3 o1 o giw —

(a) SISTTERET, JATH, Srod=

(b) 3F:ha, TATH, SIS0 GR

(c) dw, W7 W

(d) 9=, TR, Sme 1
On observing an embryo of a pea seed, a student listed its various parts as given
below :

Micropyle, Cotyledon, Plumule, Testa, Radicle, Tegmen

On examining the list the teacher remarked that out of these only three parts belong to
embryo. Select these three parts :

(a) Testa, Radicle, Cotyledon
(b) Tegmen, Radicle, Micropyle
(c) Cotyledon, Plumule, Radicle
(d) Cotyledon, Plumule, Testa

33. IR BN A, B, C 3R D 7 = feu 7u fafir= Sfiai o 37T & ag=ai i g6ad 37T 6t
T H @ | S W B FE A Y

A. TGS o 99 R faael % 7@

B. S % UG IHR TECS o 7@

C. YW % 9@ AR fiaeh = =@

D. T, 9a@ 3R fedehet! i 3TETg

(@ A (b) B ) C (d D 1

Four students A, B, C and D listed the following sets of organs of different organisms
as homologous organs. Who was correct ?

A.  wings of a bat and wings of a butterfly
B.  wings of a pigeon and wings of a bat
C. wings of a pigeon and wings of a butterfly
D. forelimbs of a cow, a duck and a lizard
(a A (b) B (c) C (d D
3111 11 [P.T.O.
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34. 9 319 THIEH 37 6l F© F¢ 39 TEHel H STol NH (i) g 511 a1 (i) Hiteaw
gISSIS ShIEE Sl STeftd et W 8, o 3719 1 J101 Shidl ? IS IUIh gHT Tehton §
& foreht o oft 1S sAfrfspan g1t 2, 1 38eh <1 il <ht eht w3y | 2

If you add a few drops of acetic acid to a test tube containing (i) distillated water and

(i) aqueous solution of sodium hydrogen carbonate, what would you observe ? If a
reaction takes place in any one of the above two cases, list its two observations.

35. 3T 4 fg@ved o 38 e =wor o1 AmifeRa TG T, frH 39T ek Sieiehd 8l
ST & 3T ShIfTeRT fereett § Gehiv fe@ms e g | 2

Draw a labelled diagram to show that particular stage of binary fission in Amoeba in

which its nucleus elongates and a constriction appears in its cell membrane.

36. 2.0 cm a8 HT B o8 10 cm BI6d gl & FoREft 3@ o0 % g o1 W o &
TRITNTE g (0) § 20 cm GO R @1 § | 15 3 G0 FAeht S aTel Sifefers 6
feufd, wpfa 3R |Es 710 & & fog fomr s difow | wfafaws &1 s 3R
STRTTRIER ohg | Wifereal shi gt AToeRt feTfa | 2
An object of height 2.0 cm is placed on the principal axis of a convex lens of focal

length 10 cm. The distance of the object from the optical centre (O) of the lens is
20 cm. Choose a proper scale and draw a ray diagram to find the position, nature and

size of the image. Also measure and write the size of the image and its distance from
the optical centre of the lens.
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